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Class Examples: Right Triangle Trigonometry Honors PreCalculus

1. In ABHS, His aright angle, m < B = 32" and b = 16. Solve the triangle.

B s-4an32= s Wosindze Ly B=3° b= b
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2. Solve ASHC givenm < H = 90',c = 12, and h = 34,
NG "Z::,_ : ';52" GasS = 1 55=069333° 5731512
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H™s 61333+ £C=206b1" €=

3. Given sinf = —"ﬁnd the value of the other five tl‘lgOl’lOl‘l‘lE[I‘lC functions of 8. Give exact values.

a2 3ing= ‘T CCh = '3'
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4. Intriangle XYZ, angle Y is a right angle and sec X = 13/12. Find the value of all six
trigonometric functions of Z. CosX = _1_2_,_ ﬁ_
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pmit s In triangle PQR, angle Q is a right angle and the tan P = 9/41 Find the value of the other five
A nud trigonometric functions of P.,
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6. The circle shown has a radius of r and a center C. If the distance DE = 36 cm, find the radius

of the circle to the Il:;arest centimeter.  4an35= %
1soce
+narylf- I r tan3s= Lo

" tan3Y
o r=25107¢cm
Evaluate the six trigonometric functions of 0. g
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9. Giventan@ = % nd g <6< TH find the value of all six trigonometric functions.
Y . A - B
yare T = o E R [N T
AV Losb = m-%’?.%‘(}:-);
T @z C tanb= % -3 .
Cotb=232 =3
(_l) +- 3) =x"
10 = x?
Jio =X

10. Givensec8 = 7 and < 8 < 27 find the value of all six trigonometric funcuons
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11. Given that the point (—H 2 -E) is on the unit circle, find the value of all six trigonometric
functions. ‘\H San
N2l = o2
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12, Given that the point ( , y) is on the unit circle and in the Quadrant IV, complete the ordered
pair for the quadrant mdlc\fed
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